
DEVELOPPEMENTS LIMITES USUELS EN 0

Connaître les factorielles suivantes : 3! = 6, 4! = 24, 5! = 120, 6! = 720

DL à un "petit ordre" DL à un ordre quelconque

1

1− x
=
x→0

1 + x+ x2 + x3 + o(x3)
1

1− x
=
x→0

1 + x+ x2 + x3 + · · ·+ xn + o(xn)

1

1 + x
=
x→0

1− x+ x2 − x3 + o(x3)
1

1 + x
=
x→0

1− x+ x2 − x3 + · · ·+ (−1)nxn + o(xn)

ex =
x→0

1 + x+
x2

2
+
x3

6
+ o(x3) ex =

x→0
1 + x+

x2

2!
+
x3

3!
+ · · ·+ xn

n!
+ o(xn)

ln(1 + x) =
x→0

x− x2

2
+
x3

3
+ o(x3) ln(1 + x) =

x→0
x− x2

2
+
x3

3
− · · ·+ (−1)n+1x

n

n
+ o(xn)

sinx =
x→0

x− x3

6
+ o(x3) (ou +o(x4)) sinx =

x→0
x− x3

3!
+
x5

5!
− · · ·+ (−1)n x2n+1

(2n+ 1)!
+ o(x2n+1)

shx =
x→0

x+
x3

6
+ o(x3) (ou +o(x4)) shx =

x→0
x+

x3

3!
+
x5

5!
+ · · ·+ x2n+1

(2n+ 1)!
+ o(x2n+1)



DL à un "petit ordre" DL à un ordre quelconque
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